NOTES
150mm 15mm THICK 1. ALL STEELWORK TO BE OF MINIMUM GRADE S275. WELD
D'A'VF"ELEF; CONNECTION PLATE MATERIAL TO BE OF STRENGTH THAT IS EQUIVALENT TO
A B 1) somm x 10mm THICK STRAPS IN A 2 / — (GRADE S275MIN THE ELEMENTS THAT IT CONNECTS.
APPLIC ABCSEOng’ZBEACE LAYOUT. I 2. TIMBER MATERIAL TO BE GRADE C24, WITH ALL PLYWOOD
0 LOCATIONS ' | OF AN EXTERNAL GRADE
' ' ' (BETWESN 1S0SAS LEES) ' 4 No. 10mm STAINLESS STEEL | | |
0. mm
[A2(304)] COACH SCREWS i | i 3. ALL BOLTS TO BE GRADE 8.8
| -1
! | ! ' ' 120 i 1 | ol MINIMUM PENETRATION 1omm CHAMFER 4. THE FOUNDATION STRUCTURE AND 'INCLINED' FRAME
| 4 S INTO TIMBER JOISTS | mm LEGS ARE NOT DETAILED ON THESE DRAWINGS BUT SHALL
- - B T+ B B B eI — B B 153 =l YA g\ B — 1 ~ B N J';*% T Ittt SN N BE AS ADOPTED FOR THE VERSION 1 POD.
wu B ol pw e ol ! S / Eiee | od g 1 BOLT HEAD AND
[ | ! | | ) | O , n S NUT RECESSED 5. FOUNDATION ELEMENTS SHALL BE AS ADOPTED FOR THE
709 B l | e | o 3 f | | INTO THE TIMBER VERSION 1 POD 90N THE BASIS THAT THE LOADING
______ S E— | N 1 & o | | 6mm FILLET APPLIED BY THE VERSION 2 POD SHALL BE NO GREATER).
< 1B N 1B 1R et - WELD BOTH
n || B i = | 3 Y SIDES. 170mm DIAMETER TURNED 6.  THIS DRAWING SHALL BE READ IN CONJUNCTION WITH
@ o)l | @ @f | k | TIMBER COLUMN WITH DRAWINGS S002 AND S003.
ARR bl AR AR = | SLOT CUT INTO ENDS TO
El Ell Ef El o TONGUE PLATES. OR JOISTS TO BE (AS A MINIMUM):
SHNN 2 =1 =1 Q N - 3mm WIRE NAILS, 50mm LONG WITH A MAXIMUM SPACING
X
2 i | i 2 i i 2 i | i 3 i | i é 10mm THICK TONGUE ~S gg 1BSEOg1_Ir_rXGP(\3TELR(E%ATIONS OF LAPPING BOARDS FIXINGS
|| i <l i o PLATE WITH HOLES FOR
S| S S| S| > M16 GRADE 8.8 BOLTS. o
el 2l 2 2l a (SAME BOTH ENDS) r % B
|| 1 |1 | - 19 | I
= | |
i 1 ! | 3 o |
1] R ) | e l !
| ! | [ 5 S
1B ! 10mm THICK CONNECTION 1B [ 2 No M16 < |0
B i PLATE WELDED TO SHS FOR U ! BOLTS PER e
TOP OF N ] BRACING. 6mm FILLET WELD N vd CONNECTION. |
R [ n BOTH SIDES OF PLATE. n X | ! BOLTS TO BASE TO | . |
v .. 1 A NS | BE M12 GRADE 8.8 ! ! 200mm DIAMETER
I | | ’
| | |
| ovoues | 1o |/ oo onoe
1500 | 2000 FOR M12 | |
| : . ! BOLTS | |
|
/s02\ SECTION 07 - FRAME LEGS /so2\ SECTION 08 - FRAME LEGS
\Oy (Scale 1:25) @ W (Scale 1:25)
|
/s002\ DETAIL E - TURNED COLUMN CONNECTIONS
Y \E/ (Scale 1:10)
| T T TR
| { J\ L \
| ' (2
i
@ l 11 J
ST 475 |
|
I F v 15mm THICK 10 0 21|) , 10
300, = - - = 290 L PLATE (GRADE 350 4 No. M16 BOLTS 80 . 85 , 100], 87 |
| | | | S275 MIN) / (GRADE 8.8) 50, 100
T=t=T | - o — 1 b — +, |
| | + o
L ‘ =ik — U] gt Rev| Date Description By | Chkd.
@ l L | | | | == 5 \ 10 | | |
© To]
_ i”; ><7HTE — {1 ! ' S = 250 8mm FILLET i © N
I(N‘f_>||=l=, L L | ) | it bdnsiing WELD —8— R @} VA |
I L I sxee -~ | | _ - .
| | ALL-AROUND. ! & o
| | == | \/\.r// | | N @
| | TH I— ————— - 55955 555 %5 | R AT\ | D B _
|.._I__ I i |- L L -.—| LITT I - w e
| | |
| | | | /502 SECTION 10 - LEG CONNECTION ! ! '
JOIST HANGERS 211 =
10mm SCREWS WITH

/s02\ PART PLAN - AT BRACE FRAME
(Scale 1:25)

EMBEDDED 100mm
(MIN) INTO TIMBER.

|
|
i
- 6mm PART PENETRATION
CC':ROCL%L@\'T ! WELD (OUTER FACE) WITH A
: 6mm FILLET WELD TO THE
INNER FACE. WELD
STRENGTH TO MATCH
CONNECTING PLATES.

X

o I * |
w (Scale 1:25) /f‘ ______ =N
|
| |
|
TURNED ' L,\ HORIZONTAL WELDS TO BE
|

Project:

/s02\ CENTRE COLUMN HEAD CRADLE

Bomm DIAMETER (MIN) WASHERS S (Seale 1:10)
EITHER SIDE OF TIMBERS. @ DETAIL E - CENTRE COLUMN HEAD
BOLTS TO PASS THROUGH TWIN . ¢/ (Scale 1:10)
JOISTS. C @ @
|
I |
____________ I Y A = 10 215 10 OUTER JOIST END
= [ il i o] I v s M ! TO BE PLANED
o == Ao -f ol ot} %ﬁ ; — . SUCH THAT THE GENERAL ARRANGEMENT
Ie} e o e B i R T J | N ALL PLATE TO BE 10mm ELEVATION WITH
~ I{ ! 1k ]I / ‘—i- 1:'———-’ S — | ™ THICK, GRADE S275 (MIN) TTTTTTT] CONNECTION ELEVATIONS AND SECTIONS
i i + e . . PLATE IS FLUSH.
L ) A n (500 T | /5002\ il < ALL VERTICAL WELDS TO BE 6mm
SR \— it \F_/ ¢/ , | i Q FILLETS (MIN) BOTH SIZES OF PLATE. | S O
- | iy i ! /5000 TIMBER JOIST ENDS | r 2 WELD STRENGTH TO MATCH THE | .
X ST ) 2 h ! v NOTCHED AT CONNECTION - H o § o CONNECTING MATERIAL. 1~ 1 1 o
< o — — | ASSEMBLY. GEOMETRY OF == e ok = Scale @ A1: 1 :25 1 :10
o Z . ! | ' THE CONNECTION ' T 158 o Sk EEERE | - ’
~| =z © C 3 . CONFIGURED TO PROVIDE | e ) . .
8 O ('Z:) i i | FLUSH OUTER AND SOFFIT | | || | L Z 2 10 :/rlel"\?ared by: E/Ih;Cked' [;jftjAN 2019
T | ot it | i v e RN e) T T ~ —
TR .: | Ty 18 B LT TAST 0
Z | | - - i TR © . . :
§ i i | :\ ] ¢I » G : il k‘fﬂ —j}‘/ + it o Project Director: M Richards
| | L T ~ : :
: : *i’ S | 1] Drawing Status: INFORMATION
' [ @ [ || o / | _:___,_::H: o
o
G . 2
I BOLTS TO ROOF JOIST N
| | ||l MEMBERS AT THE ) L n e S a o
CONNECTION ! CONNECTION NEED NOT Consulting Engineer
BRACKETS /o | BE COUNTERSUNK. BOLTS TO FRONT FACE TO BE [| ~0/°HHHINS ENSineers
\E/ I N BOLTS TO BE M20 I N COUNTER-SUNK TO ENSURE | 17 Bowling Green Lane
A A N [ GRADE 8.8. PROVIDE 50( 100 A FLUSH FRONT FACE WITH Clerkenwell
{ 1o | WASHERS TO BOTH CONNECTION. BOLTSTOBE [ | ondon
| = g SIDES. 475 M20 GRADE 8.8. WASHERTO | Eoi 00
[ | NUT ON INSIDE FACE.
f — —— q : |
gy - -+ tel: +44 (0) 203 915 6300
i | e-mail: Mark.Richards@nesta-ltd.com
19 o1 CENTRE COLUMN END PIER (5o SECTION 10 - CENTRE COLUMN HEAD

o

(Scale 1:10) . .
Revision:

/so2\ SECTION 04 - SHOWING BRACE FRAME

\Oy (Scale 1:25)

(s02\ PART ELEVATIONS - FRONT FRAME

U (Scale 1:25)

Drawing No.: 1 9/026/8002




	Sheets and Views
	S002


